Operations with Two Fractions (C)

Name: Date: Score:
Calculate each result.
6 19 N B
, 4 2 _ _
A = —
3 3+ 2 + =
5011 B
4 2 : 3 X =
7T =
7710 N B
, 1.3 9 _
573 =
S22 .
779
8 4><2 =
- 9%7 =
. 1 3 _
311 N
10 1+ > + =
7011 N
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Operations with Two Fractions (C) Answers

Name: Date:
Calculate each result.

1§+i 57+24_81_2
"6 19 114 114 114 38
, 4 2 24 14 10 5
7 6 42 42 42 21
L 3,2 B 04

5 011 55 55 55

, 2.3 2.2 _ 10
775 773 7 21

. 5.8 _ 5,10 _ 50 25
7710 778 56 28
, 1.3 12 - 2
275 273 6
BN 25

779 63

o 22 8 _ 2
974 36 9

o 1_3 95 _ 2
311 33 33 33
7011 77 77 77

Score:
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